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10,100, 1000.
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OCHHUTAEM




Ixi=1
1a2=2
1x3-3
T =4
Tains
InG=G
tIAT=T
1aC=8
1x9=9
Ta20=10 .

ER P
Bx2-42
8x3~38
Gadn2Za
G»5=30
6»£=36
Bx7T =42
Gad~-a8
Gao=0a
6x10<60

Ta0Inya YymMHOXCHIA.

2w
a2
2e3=6
2xa =8
2xS=10
2ali=12
2aT=14
2=2B=16
2x9«18
2 10=20

Tx1=?
T2Z=1%4
T3=2
Tx4=28
TaS~35
Taxlbes2
TET=459
Tr»2=586
Ta9<63
x10~70

It =3
32«6
3=3~9
3xd=12
Jab=15
36=18
IeT=21
S 24
InG=27
3Ixt0=3D

Bx1=3
Bx2=16
8x3=24
Sx4=32
BxS5=40
Bxt=40
BxT=886
8264
Bx9=T2
ax10-80

Satinms
Lx2=8
Lx3u1?2
Lxd=16
Sua5=20
Saz=24
Lx7=28
SxB~32
LuB= 36
axt0=20

Sx1»9

Sx2=18
D I=27
Ac4=36
BeS=4S5
Gxin54
S T=53
SxB=72
fxO<81

Qe 1500

Sx1=5
Sx=10
SxI=1S5
St =20
SxS5=286
Sx5=30
SxT«35
SaBeAD
Sao=45
Sx10=50

10x1«10
102 =20
10x3=30
10xE =20
10x5=50
10x6 60
10xT»FO
T0xd =50
10xD =50

10x10+~100
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